

Degenerate Poly-Type 2-Bernoulli Polynomials

Serkan Araci

Abstract

Recently, Kim-Kim [10] have studied type 2-Changhee and Daehee polynomials. They have also introduced the type 2-Bernoulli polynomials in order to express the central factorial numbers of the second kind by making use of type 2-Bernoulli numbers of negative integral orders. Inspired by their work, we consider a new class of generating functions of type 2-Bernoulli polynomials. We give some identities for these polynomials including type 2-Euler polynomials and Stirling numbers of the second kind.

Keywords: Bernoulli numbers and polynomials; Type 2-Bernoulli numbers and polynomials; Polylogarithm; Generating function; Degenerate.

AMS Subject Classification (2020): Primary: 11B83; 11B73 ; Secondary: 05A19.

1. Introduction

Special numbers and polynomials have significant roles in various branches of mathematics, theoretical physics, and engineering. The problems arising in mathematical physics and engineering are framed in terms of differential equations. Most of these equations can only be treated by using various families of special polynomials which provide new means of mathematical analysis. They are widely used in computational models of scientific and engineering problems. Also, they lead to the derivation of different useful identities in a fairly straight forward way and motivate to consider possible extensions of new families of special polynomials.

The motivation for the degenerate polynomials related with type 2-Bernoulli polynomials is because of their intrinsic scientific significance and to the way that some polynomials may be demonstrated to be natural solutions of a certain set of (partial) differential equations under some conditions which often appear in the treatment of the electromagnetic wave propagation, quantum beam life-time in storage rings, etc.

Recent investigations involving the type 2 degenerate Bernoulli and Euler numbers [3], type 2 degenerate central Fubini polynomials [7], type 2 degenerate poly-Bernoulli numbers and polynomials arising from degenerate polyexponential function [9], type 2 degenerate Bernoulli polynomials [14], generalized type 2 degenerate Euler numbers [15], type 2 Daehee and Changhee polynomials derived from p -adic integrals on \mathbb{Z}_p [16], type 2 poly-Apostol-Bernoulli polynomials [17], type 2 degenerate poly-Euler Polynomials [18] and type 2 degenerate Euler and Bernoulli polynomials [20] have been investigated extensively.

We begin with the following definitions of some special polynomials.

Let $B_n(\theta)$ be the Bernoulli polynomials given by

$$\sum_{n=0}^{\infty} B_n(\theta) \frac{\gamma^n}{n!} = \frac{\gamma}{e^\gamma - 1} e^{\theta\gamma} \quad (|\gamma| < 2\pi). \quad (1.1)$$

In the case when $\theta = 0$, $B_n =: B_n(0)$ are called the Bernoulli numbers, cf. [3, 8, 9, 13, 19].

In [11], type 2-Bernoulli and Euler polynomials are defined by means of the following generating function, respectively:

$$\sum_{n=0}^{\infty} b_n(\theta) \frac{\gamma^n}{n!} = \frac{\gamma}{e^\gamma - e^{-\gamma}} e^{\theta\gamma} \quad (|\gamma| < \pi) \quad \text{and} \quad \sum_{n=0}^{\infty} E_n^*(\theta) \frac{\gamma^n}{n!} = \frac{2}{e^\gamma + e^{-\gamma}} e^{\theta\gamma} \quad \left(|\gamma| < \frac{\pi}{2}\right). \quad (1.2)$$

When $\theta = 0$, $b_n(0) := b_n$ and $E_n^*(0) := E_n^*$ are called type 2-Bernoulli and Euler numbers.

The Stirling numbers of the second kind are defined by

$$\frac{1}{\ell!} (e^\gamma - 1)^\ell = \sum_{m=\ell}^{\infty} S_2(m, \ell) \frac{\gamma^m}{m!} \quad (\text{see [3, 6, 7, 9]}). \quad (1.3)$$

The degenerate exponential function, $e_\lambda^\theta(\gamma)$, may be interpreted without the limit case. Namely, it is given by

$$e_\lambda^\theta(\gamma) := (1 + \lambda\gamma)^{\frac{\theta}{\lambda}} = \sum_{m=0}^{\infty} (\theta)_{m,\lambda} \frac{\gamma^m}{m!} \quad \text{and} \quad e_\lambda^\theta(\gamma) e_\lambda^\nu(\gamma) = e_\lambda^{\theta+\nu}(\gamma), \quad (1.4)$$

with the assumption $e_\lambda^1(\gamma) := e_\lambda(\gamma)$, where $(\theta)_{m,\lambda}$ is the λ -falling factorial sequence given by

$$(\theta)_{m,\lambda} = \prod_{\ell=0}^{m-1} (\theta - \ell\lambda) \quad (m \geq 1), \quad (1.5)$$

with the assumption $(\theta)_{0,\lambda} := 1$, cf. [9].

The pioneering of this idea was Carlitz [2] who considered for Bernoulli and Euler polynomials as follows:

$$\sum_{n=0}^{\infty} \beta_{n,\lambda}(\theta) \frac{\gamma^n}{n!} = \frac{\gamma}{e_\lambda(\gamma) - 1} e_\lambda^\theta(\gamma) \quad \text{and} \quad \sum_{n=0}^{\infty} E_{n,\lambda}(\theta) \frac{\gamma^n}{n!} = \frac{2}{e_\lambda(\gamma) + 1} e_\lambda^\theta(\gamma) \quad (\lambda \in \mathbb{R}), \quad (1.6)$$

respectively. At the point $\theta = 0$ in (1.6), $\beta_{n,\lambda} =: \beta_{n,\lambda}(0)$ and $E_{n,\lambda} =: E_{n,\lambda}(0)$ are called, respectively, the degenerate Bernoulli and Euler numbers, see [2].

In [20], Jang and Kim introduced type 2 degenerate Euler polynomials by the following generating function:

$$\sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(\theta) \frac{\gamma^n}{n!} = \frac{2}{e_\lambda(\gamma) + e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma).$$

The polylogarithm function is defined by

$$\text{Li}_k(\zeta) = \sum_{m=1}^{\infty} \frac{\zeta^m}{m^k} \quad (k \in \mathbb{Z}, \zeta \in \mathbb{C} \text{ with } |\zeta| < 1), \text{ see [4]}. \quad (1.7)$$

Since, for $k = 1$, $\text{Li}_1(\zeta) = -\log(1 - \zeta)$, we have $\text{Li}_1(1 - e^{-\gamma}) = \zeta$. In the case $k \leq 0$, $\text{Li}_k(\zeta)$ are the rational functions:

$$\text{Li}_0(\zeta) = \frac{\zeta}{1 - \zeta}, \text{Li}_{-1}(\zeta) = \frac{\zeta}{(1 - \zeta)^2}, \text{Li}_{-2}(\zeta) = \frac{\zeta^2 + \zeta}{(1 - \zeta)^3}, \text{Li}_{-3}(\zeta) = \frac{\zeta^3 + 4\zeta^2 + \zeta}{(1 - \zeta)^4}, \dots$$

See [4] for details.

One of the various extensions of Bernoulli numbers is poly-Bernoulli numbers defined in [6] as follows:

$$\sum_{m=0}^{\infty} \beta_m^{(\ell)} \frac{\gamma^m}{m!} = \frac{\text{Li}_\ell(1 - e^{-\gamma})}{1 - e^{-\gamma}}.$$

For $\lambda \in \mathbb{C}$ and $k \in \mathbb{Z}$, Kim and Kim [12] also introduced the degenerate poly-Bernoulli polynomials given by

$$\sum_{m=0}^{\infty} \beta_m^{(\ell)}(\theta | \lambda) \frac{\gamma^m}{m!} = \frac{\text{Li}_\ell(1 - e^{-\gamma})}{e_\lambda(\gamma) - 1} e_\lambda^\theta(\gamma).$$

When $\theta = 0$, $\beta_n^{(\ell)}(0 | \lambda) := \beta_n^{(\ell)}(\lambda)$ are called the degenerate poly-Bernoulli numbers.

By the motivation of the works of Kim-Kim [11, 15, 20], we first define degenerate poly-type 2-Bernoulli polynomials. We investigate some new properties of these polynomials and derive some new identities and relations between the degenerate type 2-Euler, type 2-Bernoulli polynomials and Stirling numbers of the second kind.

2. Degenerate poly-type 2-Bernoulli polynomials

In this section, we begin with the following definition.

Definition 2.1. Let $\mathcal{B}_{m,\lambda}^{(\ell)}(x)$ be degenerate poly-type 2-Bernoulli polynomials. The generating function of these polynomials is given by

$$\sum_{m=0}^{\infty} \mathcal{B}_{m,\lambda}^{(\ell)}(\theta) \frac{\gamma^m}{m!} = \frac{\text{Li}_\ell(1 - e^{-\gamma})}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma). \tag{2.1}$$

Remark 2.1. Letting $\lambda \rightarrow 0$ in (2.1) yields

$$\sum_{m=0}^{\infty} \mathcal{B}_m^{(\ell)}(\theta) \frac{\gamma^m}{m!} = \frac{\text{Li}_\ell(1 - e^{-\gamma})}{e^\gamma - e^{-\gamma}} e^{\theta\gamma}, \tag{2.2}$$

where $\mathcal{B}_m^{(\ell)}(\theta)$ are poly-type 2-Bernoulli polynomials.

Remark 2.2. Taking $\ell = 1$ in (2.1) yields

$$\sum_{m=0}^{\infty} \mathcal{B}_{m,\lambda}^{(1)}(\theta) \frac{\gamma^m}{m!} = \frac{\gamma}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma),$$

where $B_{n,\lambda}^{(1)}(\theta)$, which is called degenerate type 2-Bernoulli polynomials, can be considered as $b_{n,\lambda}(\theta)$ due to Eq. (1.2).

Remark 2.3. When $\ell = 1$ and $\lambda \rightarrow 0$ in Eq. (2.1), we have

$$\lim_{\lambda \rightarrow 0} \sum_{m=0}^{\infty} \mathcal{B}_{m,\lambda}^{(1)}(\theta) \frac{\gamma^m}{m!} = \sum_{m=0}^{\infty} b_m(\theta) \frac{\gamma^m}{m!} = \frac{\gamma}{e^\gamma - e^{-\gamma}} e^{\theta\gamma}, \tag{2.3}$$

where $b_m(\theta)$ are called type 2-Bernoulli polynomials.

By (1.7), it is easy to see that

$$\begin{aligned} \frac{d}{d\gamma} \text{Li}_\ell(1 - e^{-\gamma}) &= \frac{d}{d\gamma} \sum_{n=1}^{\infty} \frac{(1 - e^{-\gamma})^n}{n^\ell} \\ &= \sum_{n=1}^{\infty} \frac{n(1 - e^{-\gamma})^{n-1} e^{-\gamma}}{n^\ell} \\ &= \frac{1}{e^\gamma - 1} \text{Li}_{\ell-1}(1 - e^{-\gamma}). \end{aligned}$$

It becomes

$$\begin{aligned} \sum_{m=0}^{\infty} \mathcal{B}_{m,\lambda}^{(\ell)}(\theta) \frac{\gamma^m}{m!} &= \frac{e_\lambda^\theta(\gamma)}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} \int_0^\gamma \frac{1}{e^{\gamma_1} - 1} \int_0^{\gamma_1} \frac{1}{e^{\gamma_2} - 1} \cdots \int_0^{\gamma_{\ell-2}} \frac{1}{e^{\gamma_{\ell-1}} - 1} \text{Li}_1(1 - e^{-\gamma_{\ell-1}}) \prod_{i=1}^{\ell-1} dt_i \\ &= \frac{e_\lambda^\theta(\gamma)}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} \int_0^\gamma \frac{1}{e^{\gamma_1} - 1} \int_0^{\gamma_1} \frac{1}{e^{\gamma_2} - 1} \cdots \int_0^{\gamma_{\ell-2}} \frac{\gamma_{\ell-1}}{e^{\gamma_{\ell-1}} - 1} \prod_{i=1}^{\ell-1} dt_i. \end{aligned}$$

Here, in particular $\ell = 2$, we have

$$\begin{aligned} \sum_{m=0}^{\infty} \mathcal{B}_{m,\lambda}^{(2)}(\theta) \frac{\gamma^m}{m!} &= \frac{e_{\lambda}^{\theta}(\gamma)}{e_{\lambda}(\gamma) - e_{\lambda}^{-1}(\gamma)} \int_0^{\gamma} \frac{\gamma_1}{e^{\gamma_1} - 1} d\gamma_1 \\ &= \left(\sum_{m=0}^{\infty} b_{m,\lambda}(\theta) \frac{\gamma^m}{m!} \right) \left(\sum_{n=0}^{\infty} \frac{B_n}{n+1} \frac{\gamma^n}{n!} \right) \\ &= \sum_{m=0}^{\infty} \left(\sum_{\ell=0}^m \binom{m}{\ell} b_{m-\ell,\lambda}(\theta) \frac{B_{\ell}}{\ell+1} \right) \frac{\gamma^m}{m!}. \end{aligned}$$

Thus we have the following theorem.

Theorem 2.1. *The following identity holds true:*

$$\mathcal{B}_{m,\lambda}^{(2)}(\theta) = \sum_{\ell=0}^m \binom{m}{\ell} b_{m-\ell,\lambda}(\theta) \frac{B_{\ell}}{\ell+1}.$$

Theorem 2.2. *Let n be a nonnegative number. Then, the following equality holds*

$$\mathcal{B}_{n,\lambda}^{(\ell)}(\theta) = \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n,\lambda}^{(\ell)}(\theta)_{n-m,\lambda}. \quad (2.4)$$

Proof. It is proved by using (1.4) and (2.1) that

$$\sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}^{(\ell)}(\theta) \frac{\gamma^n}{n!} = \frac{\text{Li}_{\ell}(1 - e^{-\gamma})}{e_{\lambda}(\gamma) - e_{\lambda}^{-1}(\gamma)} e_{\lambda}^{\theta}(\gamma) \quad (2.5)$$

$$\begin{aligned} &= \left(\sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}^{(\ell)} \frac{\gamma^n}{n!} \right) \left(\sum_{n=0}^{\infty} (\theta)_{n,\lambda} \frac{\gamma^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \binom{n}{m} \mathcal{B}_{m,\lambda}^{(\ell)}(\theta)_{n-m,\lambda} \right) \frac{\gamma^n}{n!}. \end{aligned} \quad (2.6)$$

Therefore, by equating the left-hand side of Eq. (2.5) and the right-hand side of Eq. (2.6) of the coefficients $\frac{\gamma^n}{n!}$, we arrive at the desired result. \square

Theorem 2.3. *Let n be nonnegative number. Then the identity*

$$\mathcal{B}_{m,\lambda}^{(k)}(\theta) = \frac{1}{2} \sum_{\ell=0}^m \binom{m}{\ell} \beta_{\ell}^{(k)}(\lambda) \mathcal{E}_{m-\ell,\lambda} \left(x + \frac{1}{2} \right)$$

holds true. In particular, we have

$$\mathcal{B}_{m,\lambda}^{(k)} = \frac{1}{2} \sum_{\ell=0}^m \binom{m}{\ell} \beta_{\ell}^{(k)}(\lambda) \mathcal{E}_{m-\ell,\lambda} \left(\frac{1}{2} \right).$$

Proof. Recalling from (2.1) that

$$\sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}^{(k)}(\theta) \frac{\gamma^n}{n!} = \frac{\text{Li}_k(1 - e^{-\gamma})}{e_{\lambda}(\gamma) - e_{\lambda}^{-1}(\gamma)} e_{\lambda}^{\theta}(\gamma). \quad (2.7)$$

By the simple calculation, it becomes

$$\begin{aligned}
 \frac{\text{Li}_k(1 - e^{-\gamma})}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma) &= \frac{\text{Li}_k(1 - e^{-\gamma})}{(e_\lambda(\gamma) + 1)(e_\lambda(\gamma) - 1)} e_\lambda^{\theta+1}(\gamma) \\
 &= \frac{1}{2} \frac{\text{Li}_k(1 - e^{-\gamma})}{e_\lambda(\gamma) - 1} \frac{2}{e_\lambda(\gamma) + 1} e_\lambda^{\theta+1}(\gamma) \\
 &= \frac{1}{2} \frac{\text{Li}_k(1 - e^{-\gamma})}{e_\lambda(\gamma) - 1} \frac{2}{e_\lambda^{\frac{1}{2}}(\gamma) + e_\lambda^{-\frac{1}{2}}(\gamma)} e_\lambda^{\theta+\frac{1}{2}}(\gamma) \\
 &= \frac{1}{2} \left(\sum_{n=0}^{\infty} \beta_n^{(k)}(\lambda) \frac{\gamma^n}{n!} \right) \left(\sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda} \left(x + \frac{1}{2} \right) \frac{\gamma^n}{n!} \right) \\
 &= \frac{1}{2} \sum_{n=0}^{\infty} \left(\sum_{\ell=0}^n \binom{n}{\ell} \beta_\ell^{(k)}(\lambda) \mathcal{E}_{n-\ell,\lambda} \left(x + \frac{1}{2} \right) \right) \frac{\gamma^n}{n!}. \tag{2.8}
 \end{aligned}$$

By comparing the coefficients of the same powers in γ of (2.7) and (2.8), we complete the proof of Theorem. \square

The following identity is well known from [10] that

$$\frac{1}{\gamma} \text{Li}_k(1 - e^{-\gamma}) = \sum_{n=0}^{\infty} \left\{ \sum_{\ell=1}^{n+1} \frac{(-1)^{n+\ell+1}}{\ell^k} \ell! \frac{S_2(n+1, \ell)}{n+1} \right\} \frac{\gamma^n}{n!}. \tag{2.9}$$

We now state the following Theorem which is the sums of the products of degenerate poly-type 2-Bernoulli polynomials and Stirling numbers of the second kind.

Theorem 2.4. *Let $n \in \mathbb{N}_0$. Then the sums for the products of $b_{m,\lambda}(x)$ and $S_2(n, m)$ holds*

$$\mathcal{B}_{n,\lambda}^{(k)}(\theta) = \sum_{m=0}^n \sum_{\ell=1}^{m+1} \frac{(-1)^{m+\ell+1}}{\ell^k} \ell! \frac{S_2(m+1, \ell)}{m+1} b_{n-m,\lambda}(\theta).$$

Proof. By making use of (2.1), we see that

$$\begin{aligned}
 \sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}^{(k)}(\theta) \frac{\gamma^n}{n!} &= \frac{\text{Li}_k(1 - e^{-\gamma})}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma) \\
 &= \frac{1}{t} \text{Li}_k(1 - e^{-\gamma}) \frac{\gamma}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma) \tag{2.10}
 \end{aligned}$$

$$= \left(\sum_{n=0}^{\infty} \left\{ \sum_{\ell=1}^{n+1} \frac{(-1)^{n+\ell+1}}{\ell^k} \ell! \frac{S_2(n+1, \ell)}{n+1} \right\} \frac{\gamma^n}{n!} \right) \left(\sum_{n=0}^{\infty} b_{n,\lambda}(\theta) \frac{\gamma^n}{n!} \right) \tag{2.11}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{\ell=1}^{m+1} \frac{(-1)^{m+\ell+1}}{\ell^k} \ell! \frac{S_2(m+1, \ell)}{m+1} b_{n-m,\lambda}(\theta) \right) \frac{\gamma^n}{n!}. \tag{2.12}$$

Thus we complete the proof of the Theorem. \square

For $k = 1$ in (2.1), we have the symmetric property of degenerate poly-type 2-Bernoulli polynomials as follows:

$$b_{m,\lambda}(\theta) = (-1)^m b_{m,-\lambda}(-\theta)$$

since

$$\begin{aligned}
 \sum_{m=0}^{\infty} b_{m,\lambda}(\theta) \frac{\gamma^m}{m!} &= \frac{\gamma}{e_\lambda(\gamma) - e_\lambda^{-1}(\gamma)} e_\lambda^\theta(\gamma) \\
 &= \frac{\gamma}{(1 + \lambda\gamma)^{\frac{1}{\lambda}} - (1 + \lambda\gamma)^{-\frac{1}{\lambda}}} (1 + \lambda\gamma)^{\frac{\theta}{\lambda}} \\
 &= \frac{-\gamma}{(1 + (-\lambda)(-\gamma))^{\frac{1}{-\lambda}} - (1 + \lambda\gamma)^{-\frac{1}{(-\lambda)}}} (1 + (-\lambda)(-\gamma))^{\frac{-\theta}{-\lambda}} \\
 &= \sum_{m=0}^{\infty} b_{m,-\lambda}(-\theta) (-1)^m \frac{\gamma^m}{m!}.
 \end{aligned}$$

Thus we note that

$$b_{m,\lambda}(1) = b_{m,-\lambda}(-1)(-1)^m. \quad (2.13)$$

Let us now give the following Theorem.

Theorem 2.5. *The following recurrence relation holds:*

$$\mathcal{B}_{n,\lambda}^{(\ell)}(1) - \mathcal{B}_{n,\lambda}^{(\ell)}(-1) = \sum_{k=1}^n \frac{(-1)^{k+n}}{k^\ell} k! S_2(n, k). \quad (2.14)$$

Proof. By (2.4), we consider

$$\begin{aligned} \text{Li}_\ell(1 - e^{-\gamma}) &= (e_\lambda(\gamma) - e_{\lambda^{-1}}(\gamma)) \frac{\text{Li}_\ell(1 - e^{-\gamma})}{e_\lambda(\gamma) - e_{\lambda^{-1}}(\gamma)} \\ &= \left\{ \sum_{n=0}^{\infty} \left((1)_{n,\lambda} - (-1)_{n,\lambda} \right) \frac{\gamma^n}{n!} \right\} \left\{ \sum_{n=0}^{\infty} \mathcal{B}_{n,\lambda}^{(\ell)} \frac{\gamma^n}{n!} \right\} \\ &= \sum_{n=0}^{\infty} \left\{ \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{m,\lambda}^{(\ell)} \left((1)_{n-m,\lambda} - (-1)_{n-m,\lambda} \right) \right\} \frac{\gamma^n}{n!} \\ &= \sum_{n=0}^{\infty} \left\{ \mathcal{B}_{n,\lambda}^{(\ell)}(1) - \mathcal{B}_{n,\lambda}^{(\ell)}(-1) \right\} \frac{\gamma^n}{n!}. \end{aligned} \quad (2.15)$$

On the other hand, it follows from (2.9) that

$$\text{Li}_\ell(1 - e^{-\gamma}) = \sum_{n=1}^{\infty} \left\{ \sum_{k=1}^n \frac{(-1)^{n+k}}{k^\ell} k! S_2(n, k) \right\} \frac{\gamma^n}{n!}. \quad (2.16)$$

Comparing the same coefficients of γ on the both sides of Eqs. (2.15) and (2.16) completes the proof. \square

When $\ell = 1$ and $\lambda \rightarrow 0$ in (2.14), we have

$$b_n(1) - b_n(-1) = \sum_{k=1}^n (-1)^{k+n} (k-1)! S_2(n, k).$$

From here, by (2.13), we see that

$$\sum_{k=1}^{2n} (-1)^k (k-1)! S_2(2n, k) = 0$$

and

$$b_{2n+1}(1) = -\frac{1}{2} \sum_{k=1}^{2n+1} (-1)^k (k-1)! S_2(2n+1, k).$$

3. Conclusion

The pioneering of "degenerate" notion was Carlitz in [2]. Kim and his research team have applied Carlitz's idea to many known special functions and polynomials, see [9-20]. This was a good way in order to introduce new generalizations of special functions and polynomials. In this paper, motivated by the works of Kim and his research team, we have studied a new type of degenerate version of type 2 Bernoulli numbers and polynomials. We have derived their explicit, closed and summation formulae by making use of their generating function, series manipulation and analytical means as has been shown in the paper.

Gaussian integral representation plays an important role in classical problems arising from quantum optics and quantum mechanics. They are studied to calculate the optical mode overlapping and transition rates between quantum eigenstates of the harmonic oscillator, cf. [21].

Before finalizing the paper, we derive Gaussian integral representation of type 2 Bernoulli polynomials with the following applications:

$$T_n(\alpha, \beta, \mu) := T_n := \int_{-\infty}^{\infty} b_n(\alpha\theta) e^{-\beta\theta^2 + \mu\theta} d\theta. \quad (3.1)$$

By (3.1), we have

$$\sum_{n=0}^{\infty} T_n \frac{\gamma^n}{n!} = \sum_{n=0}^{\infty} \left(\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} b_n(\alpha\theta) e^{-\beta\theta^2 + \mu\theta} d\theta \right) \frac{\gamma^n}{n!}.$$

It follows from (2.3) that

$$\sum_{n=0}^{\infty} T_n \frac{\gamma^n}{n!} = \frac{\gamma}{e^\gamma - e^{-\gamma}} \int_{-\infty}^{\infty} e^{(\alpha\gamma + \mu)\theta - \beta\theta^2} d\theta.$$

Since

$$\int_{-\infty}^{\infty} e^{\beta\theta - \alpha\theta^2 + \mu} d\theta = \frac{\sqrt{\pi}}{\sqrt{\alpha}} e^{\frac{\beta^2}{4\alpha} + \mu},$$

which represents Gaussian integral, we find

$$\sum_{n=0}^{\infty} T_n \frac{\gamma^n}{n!} = \frac{\sqrt{\pi}}{\sqrt{\beta}} \frac{\gamma}{e^\gamma - e^{-\gamma}} \exp\left(\frac{\alpha^2}{4\beta} \gamma^2 + \frac{\mu^2}{4\beta} + \frac{\alpha\mu}{2\beta} \gamma\right)$$

with the assumption $\exp(\gamma) := e^\gamma$. Recall from [21] that the 2-variable Hermite polynomials are defined by means of the following generating function:

$$\sum_{m=0}^{\infty} H_m(\theta, \eta) \frac{\gamma^m}{m!} = \exp(\theta\gamma + \eta\gamma^2). \tag{3.2}$$

By (2.3) and (3.2), we derive

$$\begin{aligned} \sum_{n=0}^{\infty} T_n \frac{\gamma^n}{n!} &= \frac{\sqrt{\pi}}{\sqrt{\beta}} e^{\frac{\mu^2}{4\beta}} \left(\sum_{n=0}^{\infty} b_n \frac{\gamma^n}{n!} \right) \left(\sum_{n=0}^{\infty} H_n \left(\frac{\alpha\mu}{2\beta}, \frac{\alpha^2}{4\beta} \right) \frac{\gamma^n}{n!} \right) \\ &= \frac{\sqrt{\pi}}{\sqrt{\beta}} e^{\frac{\mu^2}{4\beta}} \sum_{n=0}^{\infty} \left(\sum_{\ell=0}^n \binom{n}{\ell} b_{n-\ell} H_\ell \left(\frac{\alpha\mu}{2\beta}, \frac{\alpha^2}{4\beta} \right) \right) \frac{\gamma^n}{n!}. \end{aligned}$$

By comparing the coefficients of $\frac{\gamma^n}{n!}$ on the above, we obtain

$$T_n = \frac{\sqrt{\pi}}{\sqrt{\beta}} e^{\frac{\mu^2}{4\beta}} \sum_{\ell=0}^n \binom{n}{\ell} b_{n-\ell} H_\ell \left(\frac{\alpha\mu}{2\beta}, \frac{\alpha^2}{4\beta} \right). \tag{3.3}$$

Thus, by (3.1) and (3.3), we finalize our paper with the following result:

$$\int_{-\infty}^{\infty} b_n(\alpha\theta) e^{-\beta\theta^2 + \mu\theta} d\theta = \frac{\sqrt{\pi}}{\sqrt{\beta}} e^{\frac{\mu^2}{4\beta}} \sum_{\ell=0}^n \binom{n}{\ell} b_{n-\ell} H_\ell \left(\frac{\alpha\mu}{2\beta}, \frac{\alpha^2}{4\beta} \right).$$

Seemingly that these types of polynomials will be continued to be studied for a while due to their interesting reflections in the fields of mathematics, statistics and sciences.

References

- [1] Bayad, A., Hamahata, Y.: *Polylogarithms and poly-Bernoulli polynomials*. Kyushu J. Math. 65, 15-24 (2012).
- [2] Carlitz, L.: *Degenerate Stirling, Bernoulli and Eulerian numbers*. Utilitas Math. 15, 51-88 (1979).
- [3] Chung, S.-K., Jang, G.-W., Kim, D.S., Kwon, J.: *Some identities of the type 2 degenerate Bernoulli and Euler numbers*. Adv. Stud. Contemp. Math. (Kyungshang). 29 (4), 613-632 (2019).
- [4] Duran, U., Acikgoz, M., Araci, S.: *Hermite based poly-Bernoulli polynomials with a q parameter*, Adv. Stud. Contemp. Math. (Kyungshang). 28 (2), 285-296 (2018).
- [5] Kaneko, M.: *poly-Bernoulli numbers*. J. Theor. Nombres Bordx. 9, 221-228 (1997).

- [6] Kumar Sharma, S., Khan, W.A., Araci, S., Ahmed, S.S.: *New type of degenerate Daehee polynomials of the second kind*. Adv. Differ. Equ. 428 (2020).
- [7] Sharma, S.K., Khan, W.A., Araci, S., Ahmed, S.S.: *New construction of type 2 degenerate central Fubini polynomials with their certain properties*. Adv. Differ. Equ. 587 (2020).
- [8] Kilar, N., Simsek, Y.: *Relations on Bernoulli and Euler polynomials related to trigonometric functions*. Adv. Stud. Contemp. Math. (Kyungshang). 29 (2), 191-198 (2019).
- [9] Kim, T., Kim, D.S., Kwon, J., Lee, H.: *Degenerate polyexponential functions and type 2 degenerate poly-Bernoulli numbers and polynomials*. Adv. Differ. Equ. 168 (2020).
- [10] Kim, T., Jang, Y.S; Seo, J.J: *A note on Poly-Genocchi numbers and polynomials*. Appl. Math. Sci. 8 (96), 4775-4781 (2014).
- [11] Kim, T., Kim, D.S.: *A note on type 2 Changhee and Daehee polynomials*. RACSAM. 113, 2783-2791 (2019).
- [12] Kim, D.S., Kim, T.: *A note on degenerate poly-Bernoulli numbers and polynomials*. Adv. Differ. Equ. 258 (2015).
- [13] Kim, T., Kim, D.S., Kim, H.Y., Jang, L.-C.: *Degenerate poly-Bernoulli numbers and polynomials*. Informatica. 31 (3), 2-8 (2020).
- [14] Kim, T., Jang, L.-C., Kim, D. S., Kim, H. Y.: *Some identities on type 2 degenerate Bernoulli polynomials of the second kind*. Symmetry. 12 (4), 510 (2020).
- [15] Kim, D.S., Kim, T., Ryoo, C.S.: *Generalized type 2 degenerate Euler numbers*. Adv. Stud. Contemp. Math. (Kyungshang). 30 (2), 165-169, (2020).
- [16] Kwon, J., Kim, W.J., Rim, S.-H.: *On the some identities of the type 2 Daehee and Changhee polynomials arising from p -adic integrals on \mathbb{Z}_p* . Proc. Jangjeon Math. Soc. 22 (3), 487-497 (2019).
- [17] Kwon, J., Jang, L.-C.: *A note on type 2 poly-Apostol-Bernoulli polynomials*. Adv. Stud. Contemp. Math. (Kyungshang). 30 (2), 253-262 (2020).
- [18] Lee, D.S., Kim, H.K., Jang, L.-C.: *Type 2 degenerate poly-Euler Polynomials*. Symmetry. 12, 1011 (2020).
- [19] Jang, L.-C., Kim, D.S., Kim, T., Lee, H. *p -adic integral on \mathbb{Z}_p associated with degenerate Bernoulli polynomials of the second kind*. Adv. Differ. Equ. 2020, 278 (2020).
- [20] Jang, G.-W., Kim, T.: *A note on type 2 degenerate Euler and Bernoulli polynomials*. Adv. Stud. Contemp. Math. (Kyungshang). 29 (1), 147-159 (2019).
- [21] Raza, N., Zainab, U., Araci, S., Esi, A.: *Identities involving 3-variable Hermite polynomials arising from umbral method*. Adv. Differ. Equ. 2020 (640), (2020).

Affiliations

SERKAN ARACI

ADDRESS: Department of Economics, Faculty of Economics, Administrative and Social Science, Hasan Kalyoncu University, TR-27410 Gaziantep-Turkey

E-MAIL: serkan.araci@hku.edu.tr

ORCID ID:0000-0002-3950-6864